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If the equation a(b—c)x? + b(c—a) x+c(a—b) = 0 has equalroots and ifa+c=5and b = 5 then the value

of a*+ ¢ 1s equal to

letlzj lldx —, then/1s
(x—1)13.(x+15)13
. . . dy 6-2e™y .
[f the curve satisfying the different equation . = . passes through (0, 0) and (In 2, k), thenk 1s
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Let A and B are non-singular commutative matrices. Then A (ade1 )(adj (Bl )) B is equal to

]n In ]n ]_n
b DAl Daflal DB

1) |A][B

The area of larger portion enclosed by curves y=|x— 1| and x* + y*=25 1s equal 2 (am+ B) (where a3

are natural numbers), then o + 3 equal to

/2)(4 — g g —I—2x—1\
Y D™ — b ] 5

Let f{x) = log. x and g (x)= , then domain off{g(x)) forx>01s

1) (l,oo) 2) (O, oo) 3) \Ej OO/ 4) (0, 1)

Area of the triangle with the vertices P(5,4), Q(—2,4), R (a, b) 1s 35 square units. If orthocentre of this

(14
triangle 1s \2; ?/ and centroid 1s C(c, d) then (c+2d) 1s equal to

1)3 2)7/3 3)2 4) 8/3

Marks obtained by all the students of class 12" are in a frequency distribution with classes of equal width.
Let the median of the group data be 14 with median class interval 12—18 and the median class frequency
1s 12. If the number of students who secures marks below 12 1s 18 then the total number of students 1s
1) 48 2) 52 3) 44 4) 40

Let a curve y = 1(x) passes through the pomnts ( 0,5) and (log_2, k). If the curve satisties the difterential
equation 2(3 + ye) e dx — (7+e*) dy= 0. Then k 1s equal to

1)4 2)2 3)5 4) 8
Value of sin 70 (cothD cot70° — 1) 1S
1)3 2)5 3)7 4) 1

Considertheset S={1,2, 3, ...., 1000} . Then the number of arithmetic progression that can be formed
using elements of set S such that first term1s 1 and last term1s 1000 1s
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Self inductance depends on

1) only on geometry

2) only on medium property

3) Geometry and medium property
4) Value of current through inductor

Find the equation of magnetic field for the given equation of electric field (for EM wave)
E =E,(41 — 3j) cos(mt — kz)
1) B = 1—” (31 + 4)) cos(ot — kz)

2) B= ‘i—?(-3z — 4) cos(ot — kz)

3) B = %‘3(3? — 4j) sin(ot — kz)
4) B = f—f’(-.’ii‘ — 4]) sin(ot — kz)

For the circuit shown below

A) Current 1n an ammeter 1s 2A

4()
C) Voltage across BC 1s 4V A 8

D) Current through diode 1s 1A
Choose the correct option

1) Only A, B, C are correct

2) Only A, C, D are correct

3) Only A, B, D are correct

4) Only A, D are correct

B) Net resistance 1s 80

12V 4() 41

Find the time period of a cube of side length 10cm and mass 10g oscillating 1n water. (Den-
sity of water = 10°/kg/m’ and g = 10m/s?)

T
1) Esecond

T
2) 50 second

T

3) 100 second

bk
4) 55 second

From a uniform circular disc of radius 20cm a circular portion of radius Scm 1s removed.
The shift in the position of centre of mass (in cm).




19. Adiabatic constant of a gas 1s 5 - If volume of gas mitially at 0°C 1s reduced to one fourth of

the original volume then the new temperatue 1s
1)OK  2)273K 3) 546°K 4) 546K

20. A bullet of kinetic energy of 1235] strikes a lead block where temperature rises by 50°C. If
specific heat of lead 1s 0.1J/g-°C then mass of lead block 1s (Assume half of kinetic energy
of bullet 1s converted to heat) m gram then 2m 1s

21. In given DC circuit, find current for R = 120 1n steady state.

3H

12V

R

1) 2A 2) 1A 3)3A 4) 4A

22. Match the column appropriately regarding thermodynamic process.

[ l'cmﬂ'n . ]' ]Cnhl-ll
(P) | When volume change is zero (i) AW =0

[V v s i (O
(®) \Mtennohutiser.hamd — mm

(S) | Work done by the gas is equal to heat given to the gas m Isotvermal

1) P{iv), Qfii), R(i), S(H) 2) P{i), Qfiii), R(H), S{iv)

3) P(i), Qiii), R(iv), S{i) 4) P(ii), Qfiil), R(i), S{v)

23. Statement 1: Hot water 1s less viscous than of cold water
Statement 2 : Surface tension of soap bubble 1s more than that of a drop of water
1) Statement 1 1s true and 2 1s false
2) Statement 2 1s true and 2 1s true
3) Statement 1 1s fale and 2 1s true
4) State 1s 1 1s false and 2 1s false

24. A particle of mass m = 10°°%kg moving with velocity v=2.21 X 10° m/s. then De-Broglie
wavelength lies 1n range

1) x rays

2) yrays

3) visible rays
4) infrared rays

25. Heat treatment of muscular pamn mvolves radiation of wavelength of about 900 nm. Which
spectral line of H-atom 1s suitable for this purpose?

1) Lyman ( oo to 1)

2) Balmer ( oo to 2)
3) Paschen ( O to 3)
3) Paschen ( 5 to 3)
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